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Ink Blots (3-digit addition).

Mrs Short has spilt some ink over her homework. Can you help her write it out correctly ?
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Dentists Hate It!

$368.35

$981.39

$371.35

$1375.16

$74.05

containing a correct answer. You will discover what dentists hate!

@ 347

+ 125

@ 6,238

+ 1,947

(17) 6,346 + 879

587 + 60,974

NV

@ 664

+ 298

8,005

+ 9,375

77,436

+ 65,918 + 8,090

$54.60 $917.55

+ 19.45 @ + 63.84
4,607 + 25,798

@ 8,416 + 907

$831.39

@ 780

+ 635

@ 4,717

+ 7,638

@ 13,721

XX

$1565.16

151,354

I 143,354

Do the exercises below and find your answers in the rectangle. Shade in each area

@ 869

+ 37

9,646

+ 956

@ 38,964

+ 47,276

$726.16

+ 839.00

$338.75 + $29.60

@ 49,000 + 4,900



What Do You Get When You ...

1. Cross a rabbit with a lawn sprinkler?

14,232 54,820 94,700

2. Cross a kitten with a Xerox" machine?

1,002 46,840 6289 39,880 94,700 54,820

12,105

54,820 95300 50,373 775 39880

3. Cross two turkeys with a coal production company?

12,105 51,273 50,373 54,820 263,267

206 88472 1944 1502 94700 1,734

14,771 88,472 94,700 60,511

6,289

TO DECODE THE ANSWERS TO THESE THREE QUESTIONS:
Do each exercise below and find your answer in the code. Each time the

answer appears, write the letter of the exercise above it.

275 7,446 1,078

@ 468 ® 980 5,456
+ 32 + 3,679 + 8,237

618 3,954 81,449

® 337 @ 629 @ 193
85 588 6,756

+ 462 + 9,061 + 74

@ 265 + 839 + 5,185
@ 43,706 + 49 + 6,618

Use the table at the right for the next three questions.
What is the combined area of the two largest lakes?

® What is the combined area of the three smallest lakes?

® What is the combined area of all five lakes?

sq mi
sq mi

sq mi

@73+24+58+96+45
@863+72+36+904+69

90,553
52,806
+ 77,147
Area
Great Lakes | (square miles)
Erie 9,940
Huron 23,010
Michigan 22,400
Ontario 7,540
Superior 31,810




